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KANCHANA DEVI MATRIC.HR.SEC SCHOOL

SUB :Maths MARKS:90
CLASS:XI Ln-7-12 TIME:3.00hrs
I. Answer the following questions: 20x1=20
1. If A 1s a square matrix, then which of the following is not symmetric?

1)A+AT 2) AAT 3)ATA 4) A-AT
2. If the points (x,-2),(5,2),(8,8) are collinear, then x is equal to

1)-3 2) 1/3 3)1 4)3
3. A square matrix A is said to be singular if

1)[AI=0 2) A#0 3)AB=0 4) A=0
4. A square matrix a is said to be skew-symmetric if

1)A=AT 2) -A=AT 3)AT=A | 4) A=-AT
5.1f axa=

1)-a 2)o0 3)0 41

6.1f G + 2b and 3a mb are parallel, then the value of m is

1)3 2) 1/3 3)6 41/6
7. The sum of the sguare of thic direction cosines of 7 is
1)3 2)0 3)1 4)4
8. If af +2af +2ak is a init vector, then the value of a is
1)1/3 2)1/4 3)1/9 4) 1/2
. sinx
2 i
1)1 2)0 3)oo 4) -00
Siﬂ\/_
10 é—;(] Vsinf
1 2) -1 3)0 4) 2
11. lim 2= g
x=0 X
1 2) 2 3)3 4H0
x—=0 \f_
1)1 2) -1 3)0 4) limit does not exist.
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13.The number of points in R in which the function f(x) = [x-1|+|x-3]+sinx is not

differentiable, is

1)3 2)2 3)1 4)4
14.Find y if y = x3-6x%-5x+3
1)1 2) -6 3)6 4)-5
15. Differentiate 2*
1) (log2)2* 2) log2/2* 3)2" 4) log2
16. [ tan™! ;zzzzi x is
1) x*+c 2) 2x2%4¢ 3) x¥/2+c 4) - x*/2+c
17. [ e~**cosx dx is
1) e;x [4cosx-sinx] + ¢ 2) e;x [-4cosx+sinx] + ¢
3) e;x [4cosx+sinx] + ¢ 4) e;x [-4cosx-sinx] + ¢
18. If ~(k x) is
1)k 2)0 3)x 4) kx
19. Ten coins are tossed. The probability of getting at least 3 heads is
1) 7/64 2) ¥/82 3)7/16 4) 7/128
20. 15 P(S) =
1)1 2)-1 3)0 4)0
I1. Answer the following questions: [Q. No 30 is compulsory] 7x2=14

21,
22

23.

24,

25,

26.

21,

—

If @, b, ¢ are the side of a triangle taken in order then a+ b+é=0
Can a vector have direction angles 30°,45°,60° ?
Calculate liml(x3-3)'0.

x——

sinax

Evaluate: lim ——.
x—0 sinfix

. \ 1
Find £ (X) if f(x) = ﬁ .

Differentiate y = X%,

Evaluate : [ e3*cos2x dx.
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28.
29.
30.

Evaluate : [ e*!°92¢¥(x.
Suppose a fair die is rolled. Find the probability of getting an even number.

The probability of the impossible event is zero. That is P(@) = 0.

IIL. Answer the following questions: [Q. No 40 is compulsory] 7x3=21

31
32,

33.

34.

33,

36,

Ly

38.

S

40.

State section formula — External Division.

Find the area of a triangle having the points A(1,0,0), B(0,1,0),C(0,0,1) as its vertices.

Check if lim f(x) exists or not , where f(x) = % , for x#5

x—-5
0, forx=-5

If f and g are continuous functions with f(3) = 5 and lin; [2f(x)-g(x)] = 4, find g(3).
X—

Find y if x*+y* = 16.

: dy . p

FlndTvlfx:a(t—51nt).y=a( l-cost).

Integrate the foilowing with respect to X; cos5x sin3x

Integrate the following with respect (o x; fx@~1 e =Bx%,

If A and B are any (wo eveiits, theni F{AUB) = P{A)+F(B)-P(ANH).

Evaluate : [ x3e *dx.

IV. Answer the following questions: Tx5=35

41. a) Three coins are tossed simultaneously, What is the probability of getting

1) exactly one head
11) at least one head

111) at most one head ? (OR)

2x+3

b) Evaluate : J'mdx
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i . ; jod DN ) : 18
42. a) A tree 1s growing so that , after t- years its height is increasing at a rate of —7 ¢m per

7

year. Assume that when t = 0 the height is 5 cm.
1) Find the height of the tree after 4 years.

ii) After how many years will the height be 149 cm? (OR)

3x+1

V2x*c—-2x+3

b) Evaluate : |

43. a) If x=a (@+sin 0), y= a(1-cos @) then prove that at 8 = g ¥ = i. (OR)

. er 7. Vx249-3 L ‘
b) Find 1) lim ~ i) lim =Ha"
t—0 t x—a XxX—a

x*-1 g
" for x#1 continuous at x=17?

44. a) For what value of « 1s this function f(x) = =

(OR) a, forx=1
b) Differentiate : (2x+1)° (x*-x+1)*.

45. a) The medians of a triangle are concurrent. (OR)

a; b
b) If A,B,C are cofactor of a,b,c respectively 1=1to 3 |Al== |a; b, ¢,
as b3 23
Ay By (G
show that |4, B, C,E|A]
A3 B; G
46.a) Show that the vectors 5i +6j+7k, 7i-8j+9k, 3i+20j+5k.

(OR)
b+c a a?
b)Provethat |c+a b b?|=(a-b)(b-c)(c-a) (a+b+c).
a+b ¢ c?
47. a) Find the slope of tangent line to the graph of f(x) = -5x%+7x at (5.1(5)).

(OR)

) - dy _ sin?(a+y)
b) If sin y = x sin(a+y), then prove that — = ———, a#Nm.
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